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1. Strom acquired a 25 percent interest in Ace Partnership by contributing land having an adjusted basis of $16,000 and a fair market value of $50,000. The land was subject to a $24,000 mortgage, which was assumed by Ace. No other liabilities existed at the time of the contribution. What was Strom's basis in Ace?

a. $0    b. $16,000     c. $26,000    d.
$32.000      CPA May, 1995

2. Eng contributed the following assets to a partnership in exchange for a 50% interest in the partnership's capital and profits:

Cash
$50 000

Equipment:

  Fair market value
35,000

  Carrying amount (adjusted basis)
25,000

The basis for Eng's interest in the partnership is

a. $37,500         b. $42,500          c. $75.000        d. $85,000      CPA - May, 1991

3. On January 2, 2001, Black acquired a 50% interest in New Partnership by contributing property with an adjusted basis of $7,000 and a fair market value of $9,000, subject to a mortgage of $3,000. What was Black's basis in New at January 2, 2001?    a. $3,500   b. $4,000   c. $5,500   d. $7,500         CPA May, 1994

4. Barker acquired a 50% interest in Kode Partnership by contributing $20,000 cash and a building with an adjusted basis of $26,000 and a fair market value of $421,000. The building was subject to a $10,000 mortgage which was assumed by Kode.  The other partners contributed cash only. The basis of Barker's interest in Kode is

a. $36,000     b. $41,000     c. $52,000       d. $62,000      CPANov1995

5. At partnership inception, Black acquires a 50% interest in Decorators Partnership by contributing property with an adjusted basis of $250,000. Black recognizes a gain if

I. The fair market value of the contributed property exceeds its adjusted basis.

II. The property is encumbered by a mortgage with a balance of $100,000.

a. I only.        b. II only.        c. Both I and II.         d. Neither I nor II.         CPANov1995

6. Pert contributed land with a fair market value of $20,000 to a new partnership in exchange for a 50% partnership interest. The land had an adjusted basis to Pert of $12,000 and was subject to a $4,000 mortgage, which the part​nership assumed. What is the adjusted basis of Pert's partnership interest?

a. $10,000      b. $12,000     c. $18,000       d. $20,000       (CPA Nov. 1993)

7. On June 1, 1992, Kelly received a 10% inter​est in Rock Co., a partnership, for services con​tributed to the partnership. Rock's net assets at that date had a basis of $70,000 and a fair mar​ket value of $100,000.  In Kelly's 1992 income tax return, what amount must Kelly include as income from transfer of partnership interest?  (CPA Nov. 1993)

a. $ 7,000 ordinary income.    b. $ 7,000 capital gain.    c. $10,000 ordinary income.   d.  $10,000 capital gain.

During 1990, Adams, a general contractor, Brinks, an architect, and Carson, an interior decorator, formed the Dex Home Improvement General Partnership by contributing the assets below.

	
	
Asset
	Adjusted Basis
	Fair Market Value
	% of Partner Share in Capital, Profits, and Losses

	Adams
	Cash
	$40,000
	$40,000
	50%

	Brinks
	Land
	$ 12,000
	$21,000
	20%

	Carson
	Inventory
	$24,000
	$24,000
	30%


The land was a capital asset to Brinks, subject to a $5,000 mortgage, which was assumed by the partnership. (CPA May 1994)

Required: For Items 8 and 9, determine the initial basis of the partner's interest in Dex.

8. Brinks' initial basis in Dex is (CPA May 1994)    a. $21,000        b. $12,000         c. $8,000

9. Carson's initial basis in Dex is (CPA May 1994)    a. $25,500   b. $24,000   c. $19,000

Answers: 1. a      2. c      3. c     4. b     5. d     6.  a     7. c      8.  c     9. a

